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MOBILE PHONE (1sec, 32MB) 
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���������	
���
	���
�������	���
�� 4 ������ ���������� (base station) *��	�+�,+���� 
-��+.+	� /����0  ��0�
��+����+.1�+��	�ก��3��/ SxS �+�66��   ��0�
��+��������	�-���+.1�+�66�7��76�ก8,
���+96��7�:���	��3��/ 1x1 ����
-��6
+�66��<�����/<�79��7+63-��-6
9��7+63=�6����   �/79��7+63-��-6
=�6����+	��� ��0�-�� 0 :���� S-1  -��6
+�66�:
�� 
����������    :@����3��+=	�����
	���
�������
�� �ก@�6��*A<���� (active) :
+.6��7�-.6�D/<+�����:�ก�
	���
���������::
+=6����
��
3<���	�+�, �+�66�� 9	���
	���
���:+.E/9	��.E/   +����+�6�F���D. ��������
�ก�����:
	�7���ก�	+.6��7�-.6�3��:@����
�
	���
�
��*A<����7G���7�������96�ก (main station) �/7:
��ก���	<��ก��9��7+63-��-6
=�6���� 
������� 

 +3�7��.	-ก	��@�9	�������96�ก+���� 
- 	��	�7���:�ก�����7��7 -6
 
- ���=@����+ก��7�ก��:@�����
	���
�������
��ก@�6��*A<���*���0�
��	G.���+96��7�*/I (D��:@�+.1��<��+.1����+96��7�:���	��) 

� !"#$ 

- *9<����������:�ก standard input �/7	��=��+.1� integer 
- ������:
+.1�=@�����+����.	
��6F6 -��6
=@�����:
�7G�=�6
�		
�/ �/7
��-��6
�		
�/:
.	
ก��/<�7���+63 integer 

��0�-�� 0 ��� 3 -
�=@����� -6
��:����	���+��	����96�� /��	�76
+��7/�����	�����D.��0 
 

������� "�%�& '$�%( �)�&�&�* 

0 S �	<����	��3��/ SxS 
�������+63 0 �7G�
�ก+�66� 
* =@�������0*A<=	�0�+/�7�+����+	����<�=@�����
�0�9�/ 

1 X Y A *9<��ก A +3<�D.ก��:@�����
	���
�
��*A<�7G� *�+�66��@�-9��� (X,Y) 
* A ��:��=��D/<
�0���ก-6
6� 

2 L B R T *9<	��:@�����
	���
� +=6����
��
�� *A<�7G� *�+�66�  (X,Y) �/7
��  

L ≤ X ≤ R , B ≤ Y ≤ T 

3  :��.	-ก	� 
* =@�������0*A<=	�0�+/�7� +������ก���:�=@�����
�0�9�/ 

 
�&�*'�$#  

- =@����� �0� *A<+.1�=@�����=	�0�+/�7�+����+	����<�+
����0� =��
��ก@�9�/*9<:
�7G�*�A����7G�-6<� /����0�D��:@�+.1��<���	�:��� *�ก	,�
�� A 
��=��+.1�6� กZ:
D��
@�*9<=��:@����FG<*A<�
	���
�*�+�66���0���@�ก����G�7� 

- +�����:�ก���A�0+	���
�� 0 +������	����3��/ 4x4 /����0� 0 ≤ X ≤ 3 -6
 0 ≤ Y ≤ 3 
- �.	-ก	�:
�<��D����F66��[�*/I ��ก���<�D��*A<=@����� �2�  
- �<�*A<=@����� �2� +3<��� �.	-ก	�:
�<��+3�7�F66��[�����+.1�=��:@����+�Z� 1 =��D.7�� standard output 
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 ���=@����=@����� �2�  D.7�� standard output �/7=@����:
+.1�:@����+�Z�9����=�� 
ก�%'-.*!/�%0ก%& 

 :�ก����7���/<��6��� ������������-.	:@����+�Z� last =��=����/
<�7
��=�,:
����:�ก�		
�/*/I  -6
 ���-.	:@����+�Z� 
answer =��F66��[�
���<��ก�	���*9<+3�7�*�6�ก8,
/������7���/����0 
����%�12�3� C++  

 �<�9�ก*A< iostreams *9<����=@�����:�ก standard input -6
+3�7�F66��[�D.7�� standard output /����0 
 cin >> last; 
 cout << answer << end << flush; 
����%�12�3� C 

�<�9�ก*A< scanf -6
 printf *9<����=@�����:�ก standard input -6
+3�7�F66��[�D.7�� standard output /����0 
 scanf(�%d�,&last); 
 printf(�%d\n�, answer); fflush (stdout); 
$�)�*6�� 

Stdin stdout Explanation 

0 4  �	<����	��3��/ 4x4 
1 1 2 3  -ก<D3��	��
�� (1,2) /<�7=�� +3 (+����=��*���	��
�� (1,2)��ก 3 
2 0 0 2 2  	��=��
�0�9�/:�ก�	�+�,��	�� 0 ≤ X ≤ 2 , 0 ≤ Y ≤ 2 
 3 ���=@����:�ก=@����� �2� 3<���<� 
1 1 1 2  +����=��*���	���@�-9��� (1,1) ��ก 2 
1 1 2 g1  6/=��*���	���@�-9��� (1,2) ��ก 1 
2 1 1 2 3  	��=��
�0�9�/:�ก�	�+�,��	�� 1 ≤ X ≤ 2 , 1 ≤ Y ≤ 3 
 4 ���=@����:�ก=@����� �2� 3<���<� 
3  :��.	-ก	� 

 
-B�C��ก�D 

3��/3����	�� S×S 1×1 ≤ S×S ≤ 1024×1024 
=��*�-��6
+�66� V 0 

≤ V ≤ 215 g1  (= 32767) 
=��
��+.6��7�-.6�*�+�66� A -215 

≤ A ≤ 215g1  (= 32767) 
:@����=@����� U 3 ≤ U ≤ 60002 
=���G���/3��:@�����
	���
�
�0�9�/*���	�� M M= 230 
�&�*'�$#  

- :�ก������
�0�9�/ 20 A�/ :
�� 16 A�/
������	��3��/D��+ก�� 512x512 
- �.	-ก	�
/���+�Z�:
.l��������Dm6�*9<-ก� standard input 3���.	-ก	�3��=�, 


